1068 (K10a67)

mz Linearized knot diagam
s \
\ 105 \ 6 9 8 10 7 2 1 3 5 4

8
N / / Solving Sequence
1 2,94>3,64>74>14>5*>84>4*’10H>C4a077c9
A knot diagranﬂ C2 €6 €1 Cs Cs €3 Cio0

Ideals for irreducible component#ﬂ)f Xpar

It = (—u' + ' — 70 4+ 6u® — 170" + 12u° — 150° + Tu® — 3u® — u® + 26 — 3u + 1,
—ul® 4+ ur? — 106 4+ 90t — 36u” + 30u® — 54u” + 43u® — 22u° + 20u* + 10u® — 2u? + 4a — 3u + 3,
w4+ 9u'? + utt + 310t + 60 4+ 48u® + 11u” + 278 + 2u® — 2ut — 8uP +u? + 1)

I = (480207 — 8268u' + - - + 12107b + 16224, —1848u'" — 4160u'® + - - - + 12107a — 35011,
u® — w4+ 6u 1)

I¥ = (—au+2b—a —2u, a® +au+ a+ 2u, u® +1)

* 3 irreducible components of dim¢ = 0, with total 36 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
It = (—u''+u'®+- - - 4+2b4+1, —u'3+ul?+-.-+4a+3, u*+9ul?+- . - +u?+1)

(i) Arc colorings

o ()

ag =

az =
%ul?’—%um—l— -—&-%u—%
ae = \ 1,11 1 10 L3, 1
6 QU Ut qu— g
%uls %u12+.___§u_%1>
ar = \ 1,11 10 3, 1
7 QU Ut u— g
1,13 1,12 | . 5 _1>
v Uttt gu— g
-1
as = _ 1,13 112, ., _ 1, 1
5 i quw o+ R

ag —

(

(

(

(o fi
al:( _7u + 2u

(

(

(

(ii) Obstruction class = —1

(iii) Cusp Shapes
= —2u'? — 17u! — 3u!0 — 550 — 20u® — 79u” — 461’ — 39u® — 33u* + 9ud + 9u? + Tu+ 3



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq Wt =3B —Tu+2
€2,C3,C4 W o2 4241
€8, C9, C10
¢ u 4+ U+ Bu 44
¢ u —9uld . — 115u+ 26




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, C6 Yt =Ty =By 44
C2,C3,C4 y14+18y13++2y+1
€8, C9, C10
€5 y+y 4+ 191y + 16
e y" + 5yt + - — 69y + 676




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol + /—1CS) Cusp shape
u = —0.552436 4 0.3814521
a= 122078 —1.578661 —0.78724 — 4.416681 3.49417 + 7.886251

b= 1.041840 + 0.4817141

u = —0.552436 — 0.3814521
1.22078 4 1.57866.1
1.041840 — 0.4817141

—0.78724 + 4.416681

3.49417 — 7.886251

—0.04509 + 1.437061
0.567049 — 0.4334831
0.830389 + 0.7844141

—6.78342 — 2.905891

—2.10855 + 2.918971

—0.04509 — 1.437061
0.567049 + 0.4334831
0.830389 — 0.7844141

—6.78342 + 2.905891

—2.10855 — 2.918971

0.498731 + 0.1573201
—0.611249 — 0.3320831
0.400528 + 0.4828331

1.035520 + 0.3685141

9.33320 — 2.060001

0.498731 — 0.1573201
= —0.611249 + 0.3320831
0.400528 — 0.4828331

1.035520 — 0.3685141

9.33320 + 2.060001

—0.164790 + 0.466680.1
= —1.43454 4 0.303611
—0.941064 4 0.4071141

—1.42730 + 1.544781

1.163355 — 0.2284821

—0.164790 — 0.4666801
—1.43454 — 0.303611
—0.941064 — 0.4071141

—1.42730 — 1.544781

1.163355 + 0.2284821

—0.26550 + 1.530941
—0.292054 — 0.2682871
0.243278 — 0.9170201

—10.58650 — 6.189001

—1.00936 + 2.905081

—0.26550 — 1.530941
—0.292054 + 0.2682871

b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a=
b= 0.243278 + 0.9170201

—10.58650 +- 6.189001

—1.00936 — 2.905081




Solutions to I} Vv—1(vol +/—1CS) Cusp shape

= 0.33038 4+ 1.55103I

1.76709 + 0.945041 —13.5268 + 11.63701 | —3.43423 — 6.312211
1.211210 — 0.5790831

0.33038 — 1.551031

1.76709 — 0.945041 —13.5268 — 11.63701 | —3.43423 4 6.312211
1.211210 + 0.5790831

0.19870 + 1.612321
= —1.71708 — 0.228021 —15.6273 4 2.24141 | —5.43859 — 0.464411
—1.286170 — 0.2809821

> Q& €| & €|l & €| & &

0.19870 — 1.612321
—1.71708 + 0.228021 —15.6273 — 2.24141 | —5.43859 + 0.464411
—1.286170 + 0.2809821




II. I¥ = (4802u'” — 8268u'® + -

.4+ 12107a — 35011, u'® —

(i) Arc colorings

()

ag =
o= (o)
o= ()
0.152639u'7 + 0.343603u16 + -
as = \ —0.396630u'” + 0.682911u16 + --
0.549269u17 — 0.339308u16 + -
a7 = \ —0.396630u'7 4+ 0.682911%16 + ..
0.987528ul” — 1.29215u16 + -
a1 = \ —0.579830u'” + 0.616833u16 + - -
—1.5211947 + 2.03023u16 + -
as = \0.275791ul” — 0.288263u16 + -
ag = (u +u>
u +1
a4 =
1.50904u17 —1.7848416 + ..
a10 = \ —0.521516u'7 + 0.492690u6 + - - -
(ii) Obstruction class = —1

31900, 17 _
12107

(iii) Cusp Shapes = u

12107

61944 16

-+ 12107b + 16224, —1848u'” — 4160u'% +
-+ 6u + 1)

U17+‘

-4 0.206988u + 2.89180
— 1.61361u — 1.34005

-+ 1.82060u + 4.23185
— 1.61361u — 1.34005

-4 7.85430u + 5.72421
— 4.42265u — 1.55001

— 18.2674u — 3.39894
-+ 1.53308u — 0.490956

— 4.87387u — 1.79698

-4 14.7282u 4 7.52119 >

112870

168364
++ o707 ¥ T 2107




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, (u® +u® — 20" — 3u8 + u® + 3ut + 203 —u —1)?
€2,C3,C4 u® T Gu+1
€8, €9, €10
= (u® + 5ud + 120" + 15u8 + 9u® — u? — 4u® — 2u? +u +1)?
¢ (u® + 3u® + 8u” 4 13u’ + 17u® + 17u* + 1203 + 6u? +u — 1)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C6 (y° — 5y + 129" — 1595 + 99 + oy —4y® + 202 +y —1)2
C2,C3,C4 y18+15y17+_16y+1
€8, C9, C10
s (v —y® +12y" = Ty° + 37y° + y* — 1097 + 5y — 1)
¢ (v + Ty® + 20y" + 25y5 + 5y° — 15y* + 22y + 13y — 1)?




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C5)

Cusp shape

u = 0.912264 4 0.4912431
a = —0.78567 — 1.248781
b= —1.172470 + 0.5003831

—6.88799 + 7.084931

—1.57680 — 5.913351

u = 0.912264 — 0.4912431
a = —0.78567 + 1.248781
b= —1.172470 — 0.5003831

—6.88799 — 7.084931

—1.57680 + 5.913351

u = 0.103396 4 1.0697601
a = —0.757195 — 0.6046131
b= —0.772920 + 0.5103511

—1.50643 + 2.093371

4.51499 — 4.162831

u = 0.103396 — 1.0697601
a = —0.757195 + 0.6046131
b= —0.772920 — 0.5103511

—1.50643 — 2.093371

4.51499 4 4.162831

u= 0.792965 + 0.7416151
a= 0.617829 —0.0143101
b= 1.173910 + 0.3915551

—7.66122 — 1.336171

—3.28409 + 0.701751

u=0.792965 — 0.7416151
a= 0.617829 + 0.0143101
b= 1.173910 — 0.3915551

—7.66122 4 1.336171

—3.28409 — 0.701751

u = —0.746849 + 0.5158631
a= 0.408531 — 0.5972201
b= —0.141484 + 0.7396681

—3.90681 — 2.454421

1.67208 + 2.912981

u = —0.746849 — 0.5158631
0.408531 + 0.5972201
b= —0.141484 — 0.7396681

a =

—3.90681 + 2.454421

1.67208 — 2.912981

u = —0.256179 4 1.0940201

a= 1.04650 — 1.396891 —4.48831 —4.65235 4 0.1
b= 0.825933

u = —0.256179 — 1.0940201

a= 1.04650 + 1.396891 —4.48831 —4.65235 4 0.1

b= 0.825933
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= 0.118400 + 1.3909801
= 0.194324 — 0.5378251
= —0.141484 — 0.7396681

—3.90681 + 2.454421

1.67208 — 2.912981

= 0.118400 — 1.3909801
= 0.194324 + 0.5378251
= —0.141484 + 0.7396681

—3.90681 — 2.454421

1.67208 + 2.912981

0.00304 + 1.474761
2.29745 + 0.064921
= 1.173910 — 0.3915551

—7.66122 + 1.336171

—3.28409 — 0.701751

0.00304 — 1.474761
2.29745 — 0.064921
1.173910 + 0.3915551

—7.66122 — 1.336171

—3.28409 + 0.701751

—0.18330 + 1.477541
= —2.21308 4+ 0.731951
= —1.172470 — 0.5003831

—6.88799 — 7.084931

—1.57680 + 5.913351

= —0.18330 — 1.477541
= —2.21308 — 0.731951
= —1.172470 + 0.5003831

—6.88799 + 7.084931

—1.57680 — 5.913351

= —0.243739 + 0.1029091
= 3.19131 — 0.412541
= —0.772920 — 0.5103511

—1.50643 — 2.093371

4.51499 + 4.162831

= —0.243739 — 0.1029091
= 3.19131 + 0.412541
= —0.772920 + 0.5103511

—1.50643 + 2.093371

4.51499 — 4.162831
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IIL. I¥ = (—au + 2b — a — 2u, a® 4+ au+ a + 2u, u? + 1)

(i) Arc colorings
1
ag = O
ag =
az =

ag =
1 1
s0u+ 3a u)

ar = (éau—kéa—!—u
ayp = (
as = (
ag = (
ayq4 = (
u
aio = —%au—l—%a—i—u

(ii) Obstruction class =1

(iii) Cusp Shapes = 2au — 2a — 4
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cg,C7 wt—u? 41
C2,C3,C4 (u2 +1)2
€8, C9, C10
] (u? —u+1)2
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cq,C7 (y2_y+1)2
C2,C3,C4 (y+1)4
€8, C9, C10
% (v +y+1)°

14



(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

1.0000001
= 0.36603 — 1.366031 —3.28987 — 2.029881 | —2.00000 + 3.464101
0.866025 + 0.5000001

1.0000001
—1.36603 + 0.366031 —3.28987 + 2.029881 | —2.00000 — 3.464101
—0.866025 + 0.5000001

— 1.0000001
0.36603 + 1.366031 —3.28987 + 2.029881 | —2.00000 — 3.464101
0.866025 — 0.5000001

— 1.0000001
—1.36603 — 0.366031 —3.28987 — 2.029881 | —2.00000 + 3.464101
—0.866025 — 0.5000001

> & €|l & 8| & 8|l & &
Il
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IV. u-Polynomials

Crossings u-Polynomials at each crossing
c1, ce (u* —u® + 1) (u® +u® — 2u" — 3u® +u® + 3u® +2u® —u —1)?
c(utt = 3ut T+ 2)
€2,C3,C4 ((u2 + 1)2)(u14 +0uZ 4 2+ 1)(u18 M S+ 6u+ 1)
€8, €9, C10

cs (u? —u+1)>2
(u? 4+ 5u® 4 120" + 15u8 + 9u® — ut — 4uP — 20 +u+1)?
(M a4 But4)

e (u* —u? +1)

(u® 4 3u® + 8u” + 13u8 + 17u® + 17ut + 1203 + 6u? +u — 1)?
C(utt = 9ut + - — 115u + 26)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing
.. (v* —y+1)°

1,¢6
(y? =5y 1297 — 159° + 995 + oyt — 4y + 207 +y — 1)?
Mt -yt - 5y +4)

@A (g + )M 18y e 2y + 1)y 15y 4 — 16y + 1)
€8, C9, C10

cs W +y+ 17" —o® +12¢" = Ty° +37y° + y* — 10y + 5y — 1)°
Syt 4y 4+ 191y + 16)

. (y* —y+1)°
(Y + TyS + 2007 + 25y5 + 5y° — 15y* + 22¢% + 13y — 1)?
Sy +5y" + - — 69y + 676)
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